
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique por potências de dez (número ausente)

6, 755 × ________ = 67.55 9, 006 × ________ = 90.06

3, 942 × ________ = 39.42 5, 433 × ________ = 543.3

4, 815 × ________ = 481.5 1, 918 × ________ = 191.8

10, 301 × ________ = 1030.1 2, 037 × ________ = 2037

10, 104 × ________ = 10104 1, 933 × ________ = 19.33

2, 325 × ________ = 23.25 1, 68 × ________ = 168

3, 991 × ________ = 39.91 10, 601 × ________ = 1060.1

2, 129 × ________ = 212.9 5, 785 × ________ = 5785

5, 863 × ________ = 5863 5, 455 × ________ = 545.5

7, 776 × ________ = 777.6 10, 687 × ________ = 1068.7

www.snowmath.com

https://www.snowmath.com


Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique por potências de dez (número ausente)

6, 755 × 10 = 67.55 9, 006 × 10 = 90.06

3, 942 × 10 = 39.42 5, 433 × 100 = 543.3

4, 815 × 100 = 481.5 1, 918 × 100 = 191.8

10, 301 × 100 = 1030.1 2, 037 × 1000 = 2037

10, 104 × 1000 = 10104 1, 933 × 10 = 19.33

2, 325 × 10 = 23.25 1, 68 × 100 = 168

3, 991 × 10 = 39.91 10, 601 × 100 = 1060.1

2, 129 × 100 = 212.9 5, 785 × 1000 = 5785

5, 863 × 1000 = 5863 5, 455 × 100 = 545.5

7, 776 × 100 = 777.6 10, 687 × 100 = 1068.7
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